D" Invn
BIT aion n1nwn

L INQY w7 ' wa a nnwa ki ooy IR0 v 'onin nainwn
BIT_VECTOR aion ninvn
120 [Iy'M2a DA ,NRMIPI N7 [N BIT 2100 DINWN ¥ n Th wn

Data :in bit_vector (7 downto 0) NTANYT? XNAIT

nio 8 71 Q0PI ATAIN XKNAITA

Data(7) | Data(6) | Data(5) | Data(4) | Data(3) | Data(2) | Data(1) | Data(0)

LSB

NNUNY? NIRNAIT

Y<="11000011"; -- "MIN1'2] Nnwn

Y<=x"C3"; - 20T nopNa Nnwn

Y<=(others =>'0"); -- nra'on 0% 0 naxn

Y<=('1",'2",0THERS=>'0"); -- a1'7 0 "xwn 721 7,6 nIa'o7 11 naxn

Y<=(A, B,OTHERS=>'0'); -- 0xwn 716 na'o7 B 7w v, 7 o A 7w 1w navn
Y(5 downto 2)<="1011";  -- 27Ty 5 nIa'o7 71 wn Naxn

Y(2)<="1"; -- TA72 2 n1a'07 1 nax¥n

Y<=A xor B; - Y 1> 7711 210 INIXN 0N A,B, n'al7 n71ye

INTEGER 2a10n nanwn
2147483647 Ty -2147483648 :nnva 1y 7277 2aio0ni niraro 32 1y 7TIaa
NINWUNN NYTANY? NIRNAIT

Data_1 :ininteger range 12 downto 0; -- 4bit
Data_2 : ininteger range 0 to 255; -- 8bit
MINwNN 'aa7 0'7'»
DY INWIARY7AND] e
N7 X721 N'ONNIX NI7WS7 'win'y e
DINNN '97 NI'A'0 190N NXPN NDINN - ©
INTEGER 2100 nanwn'7 nnwin

Y<=25; - 1NYY Y Nnwn
Y<=A+B; -- Y 12210 ININN D'INWN A,B , N'ONN"IX N71V9
Y<=Y+1; -- 12Ty
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STD_LOGIC - 0'21Y N1INNn nINYn
STD_LOGIC_1164 — 050N NNN 1TAIN NINWN
N DINN N7'NNA NNNXNN
library IEEE;
use IEEE.STD_LOGIC_1164.all;
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(N72m nixa oW1 X ) YT NIYAINNN DRXIND 72pnn7 700, vim X7 =X 4
NINWN? N7 W NN7 Ywor DON'TCARE —'-' .5
(N7rm nixa owN U ) nnwn ¥y 197 mnwn 7w 1w 7nnikn X7 1w - 'V .6
A7 0-5Tamn Qo7 angn Ny, win a0 - LY 7
17 1 -5 Tamn Qo7angn 1w, win a7 'l — 'H' .8

(Uon'X') vonyimN? — 'W 9

DIvAnN 9IX
STD_LOGIC nmwin BIT nij7na - BIT 72U DTAn e
XnaIT
port( DO,D1:in STD_LOGIC;

S:in STD_LOGIC;
Y : out STD_LOGIC);

. 727 BIT_VECTOR nniTa byl STD_LOGIC ilon D0'0 7w wnn 201N JIopl e
NNAIT
a:in STD_LOGIC_VECTOR (7 DOWNTO 0);

b:in STD_LOGIC_VECTOR (O to 7);
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D'"M"19 A TY NINYUN

.begin |27 ARCHITECTURE |'a nwn1 — Signal

JY¥INN TA72 MINNND N71Y90, NI7IYD 190N 1'7V NIvXIni NN, *22apn nanwn
(MNNX NTIP9)TA72 3-2 cnt DX INTR' NIKAN NITIPON MY I XNAIT?

Cnt<=cnt+1;

Cnt<=cnt+3;

.process IMIX *T' 72y 1 X 2INI begin 'A% process |'2 bwN — Variable
JIvXann Ni7von 75 ,NiI71vo 10on 1'7v nivxian nT'na L,NIv nanwn

.4-2 cnt DX TR NIXAN DITIP9N 'MW :XNAIT?

cnt:=cnt+1;

cnt:=cnt+3;

constant VIaj nanwnl generic — ') nanwn

[N1Y entity -0 7¢ NINWN N1DDN IR 7712 DTANY 'WIn'Y | entity IN2 oW - Generic
.ylnan nrman?

entity -0 T 2V 77 1dmi yiap 7y NTan — Constant

INDAIT
generic X7
entity register8 is
port ( clk, rst, en: in std_logic;
data: in std_logic_vector(7 downto 0);
g: out std_logic_vector(7 downto 0));
end registers;
generic Dy

entity register8 is
generic ( width: integer := 8 );
port ( clk, rst, en: in std_logic;
data: in std_logic_vector(width-1 downto 0);
g: out std_logic_vector(width-1 downto 0));

end registers;
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constant Dy
entity register8 is
constant width: integer :=8;
port ( clk, rst, en: in std_logic;
data: in std_logic_vector(width-1 downto 0);
g: out std_logic_vector(width-1 downto 0));

end registers;
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